JOURNAL OF INTEGRAL EQUATIONS AND APPLICATIONS Volume 3, Number 3, Summer 1991

REMARKS ON THE EXISTENCE AND UNIQUENESS OF SOLUTIONS OF VOLTERRA FUNCTIONAL EQUATIONS IN L^p SPACES

MARIAN KWAPISZ

1. Existence and uniqueness problems for the Volterra integral equations were discussed by many authors. Usually the solutions were sought in the space of continuous functions.

In the literature on the subject there is not much more than the classical result for integral equations in L^p or L^2 spaces which one can find in [5, 10]. Similar results for multidimensional integral equations in L^2 spaces appeared in [2]. Recently, the author of the present paper has shown [8, 9] that Bielecki's technique of weighted norms [3] (which was successfully employed by many authors dealing with integral equations in the space of continuous functions—see [6] and a review paper [4]) can be applied fairly well to integral equations in L^p spaces.

The aim of the present note is to show how the comparison method works in the case of L^p_{loc} spaces (for an abstract formulation of the method consult the paper [7]) and to discuss different approaches to the problem in the case of a linear comparison function Ω (see Assumption A).

2. Let $a, b \in \mathbf{R}^n$, $a = (a_1, \ldots, a_n)$, $b = (b_1, \ldots, b_n)$; we write $a \le b$ if $a_i \le b_i$, $i = 1, 2, \ldots, n$. Put

$$I = [a, b] = \{t : t \in \mathbf{R}^n, \ a \le t < b\}.$$

The case when $b = (+\infty, ..., +\infty)$ is accepted. We call this set an interval. Let *B* be a Banach space with a norm $|\cdot|$. The symbol $L^p_{\text{loc}}(I, B)$ will denote the space of all locally Bochner integrable functions *x* (Bochner integrable on every compact subset I_c of *I*) for

This research was done in the Academic Year 1988/89 when the author was a visiting Professor in the Department of Mathematics and Statistics, University of Nebraska-Lincoln. Thanks to Professor Gary Meisters for the arrangement. Received by the editors on June 2, 1989.

Copyright ©1991 Rocky Mountain Mathematics Consortium

which the integrals

$$\int_{I_c} |x(s)|^p \, ds, \qquad I_c \subset I \ (I_c\text{-compact}), \quad p \ge 1,$$

are finite. From now on we will write

$$\int_{a_1}^{t_1} \int_{a_2}^{t_2} \cdots \int_{a_n}^{t_n} x(s_1, s_2, \dots, s_n) \, ds_n \, ds_{n-1} \cdots ds_1 \quad \text{as} \quad \int_a^t x(s) \, ds_n \,$$

Let the operator $F: L^p_{\rm loc}(I,B) \to L^p_{\rm loc}(I,B)$ be given. We consider the equation

(1)
$$x(t) = (Fx)(t), \quad t \in I.$$

We assume

Assumption A. Suppose that the function $\Omega : I \times \mathbf{R}_+ \to \mathbf{R}_+$, $\mathbf{R}_+ = [0, +\infty)$ has the following properties:

(i) $\Omega(t, \cdot)$ is nondecreasing and continuous for almost all t in I.

(ii) $\Omega(\cdot, u)$ is measurable for all $u \in \mathbf{R}_+$, and, for every constant M, there is a locally integrable function $\gamma_M : I \to \mathbf{R}_+$ such that

$$\Omega(t, u) \le \gamma_M(t), \quad t \in I, \ 0 \le u \le M.$$

(iii) For any nondecreasing and continuous function $q: I \to \mathbf{R}_+$, there is a nonnegative and continuous solution u_0 of the inequality

(2)
$$u(t) \ge 2^{p-1} \cdot \int_a^t \Omega(s, u(s)) \, ds + q(t), \quad t \in I.$$

(iv) The function $u(t) \equiv 0, t \in I$, is the only solution of the equation

(3)
$$u(t) = \int_{a}^{t} \Omega(s, u(s)) \, ds, \quad t \in I.$$

(v) For every $x, y \in L^p_{\text{loc}}(I, B)$, the inequality

(4)
$$|(Fx)(t) - (Fy)(t)|^p \le \Omega\left(t, \int_a^t |x(s) - y(s)|^p \, ds\right), \quad t \in I,$$

holds.

Observe that $L^p_{loc}(I, B)$ is a complete locally convex space with the family of seminorms

$$||x||_t = \left(\int_a^t |x(s)|^p \, ds\right)^{1/p}, \quad t \in I.$$

3. Take any $x_0 \in L^p_{loc}(I,B)$, and define a sequence $\{F^k x_0\}$, $k = 0, 1, \ldots$, of iterations of x_0 by the operator $F : F^0 x_0 = x_0$, $F^{k+1} x_0 = F(F^k x_0)$.

Let u_0 be a solution of inequality (2) with q defined by the equation

(5)
$$q(t) = 2^{p-1} \cdot \int_{a}^{t} |x_0(s) - (Fx_0)(s)|^p \, ds, \quad t \in I.$$

Define the sequence $\{u_k\}, k = 0, 1, \dots$, by the formula

(6)
$$u_{k+1}(t) = \int_a^t \Omega(s, u_k(s)) \, ds, \quad t \in I, \ k = 0, 1, \dots$$

Observe that the sequence $\{u_k\}$ is nonincreasing and, by condition (iv) of Assumption A and the Dini theorem, it converges to zero uniformly on every compact subset of I.

Now we are in a position to formulate the main result of the paper:

Theorem 1. If Assumption A holds, then there is a unique solution of equation (1), say x^* , and x^* is the limit in $L^p_{loc}(I, B)$ of the sequence $\{F^k x_0\}, k = 0, 1, \ldots$. Moreover,

(7)
$$\int_{a}^{t} |x^{*}(s) - (F^{k}x_{0})(s)|^{p} ds \leq u_{k}(t), \quad t \in I, \ k = 0, 1, \dots,$$

with u_k defined by equation (6).

Proof. We show first that, for $x_k = F^k x_0$,

(8)
$$\int_{a}^{t} |x_{k}(s) - x_{0}(s)|^{p} ds \leq u_{0}(t), \quad t \in I, \ k = 0, 1, \dots$$

We do this by induction. It is clear that (8) holds for k = 0. Assuming that (8) holds for a given k, we get

$$|x_{k+1}(s) - x_0(s)|^p \le 2^{p-1} \cdot (|(Fx_k)(s) - (Fx_0)(s)|^p + |(Fx_0) - x_0(s)|^p)$$

because

$$(\alpha + \beta)^p \le 2^{p-1} \cdot (\alpha^p + \beta^p)$$
 for every $\alpha, \beta \ge 0$ and $p \ge 1$.

Using (4) and (8) yields

$$|x_{k+1}(s) - x_0(s)|^p \le 2^{p-1} \cdot \Omega\left(s, \int_a^s |x_k(\xi) - x_0(\xi)|^p \, d\xi\right) + 2^{p-1} \cdot |(Fx_0)(s) - x_0(s)|^p \le 2^{p-1} \cdot \Omega(s, u_0(s)) + 2^{p-1} \cdot |(Fx_0)(s) - x_0(s)|^p.$$

The integration of this inequality over the interval [a, t] gives

$$\int_{a}^{t} |x_{k+1}(s) - x_0(s)|^p \, ds \le 2^{p-1} \cdot \int_{a}^{t} \Omega(s, u_0(s)) \, ds + q(t) \le u_0(t),$$

which, together with the induction assumption, means that (8) holds for all k = 0, 1, ...

Now we prove that

(9)
$$\int_a^t |x_{k+m}(s) - x_k(s)|^p \, ds \le u_k(t), \quad t \in I, \ k, m = 0, 1, \dots,$$

doing this by induction again (with respect to k). By (8) we see that (9) holds for k = 0. Assuming that (9) holds for a specified k and any $m = 0, 1, \ldots$, we get

$$|x_{k+1+m}(s) - x_{k+1}(s)|^{p} = |(Fx_{k+m})(s) - (Fx_{k})(s)|^{p}$$

$$\leq \Omega\left(s, \int_{a}^{s} |x_{k+m}(\xi) - x_{k}(\xi)|^{p} d\xi\right)$$

$$\leq \Omega(s, u_{k}(s)).$$

386

The integration of this inequality over the interval $[a, t] = I_t$ results in

$$\int_{a}^{t} |x_{k+1+m}(s) - x_{k+1}(s)|^{p} \, ds \le \int_{a}^{t} \Omega(s, u_{k}(s)) \, ds = u_{k+1}(t).$$

This, together with the induction assumption, shows that (9) is proved. However, (9) means that the sequence $\{x_k\}$ is a Cauchy sequence in $L^p_{\text{loc}}(I, B)$, so it converges to some element $x^* \in L^p_{\text{loc}}(I, B)$. The inequality (7) is implies by (9) when $m \to +\infty$. Now,

$$\begin{split} \int_{a}^{t} |x^{*}(s) - (Fx^{*})(s)|^{p} \, ds \\ &\leq \int_{a}^{t} [|x^{*}(s) - x_{k+1}(s)| + |x_{k+1}(s) - (Fx^{*})(s)|]^{p} \, ds \\ &\leq 2^{p-1} \cdot \int_{a}^{t} |x^{*}(s) - x_{k+1}(s)|^{p} \, ds \\ &\quad + 2^{p-1} \cdot \int_{a}^{t} |(Fx_{k})(s) - (Fx^{*})(s)|^{p} \, ds \\ &\leq 2^{p-1} \cdot u_{k+1}(t) + 2^{p-1} \cdot \int_{a}^{t} \Omega(s, u_{k}(s)) \, ds = 2^{p} \cdot u_{k+1}(t), \\ &\quad t \in I. \end{split}$$

Taking the limit as $k \to \infty$ gives that x^* is a solution of equation (1).

To prove the uniqueness of x^* , let us assume that there is another solution x^{**} of (1). Let u_0^* be a continuous solution of the inequality

(10)
$$u(t) \ge \int_{a}^{t} \Omega(s, u(s)) \, ds + \int_{a}^{t} |x^{**}(s) - x^{*}(s)|^{p} \, ds, \quad t \in I.$$

We have

$$x^{*}(t) = (Fx^{*})(t), \qquad x^{**}(t) = (Fx^{**})(t),$$

and, by (4),

(11)
$$|x^{**}(s) - x^{*}(s)|^{p} \leq \Omega\left(s, \int_{a}^{s} |x^{**}(\xi) - x^{*}(\xi)|^{p} d\xi\right),$$

387

(12)
$$\int_{a}^{t} |x^{**}(s) - x^{*}(s)|^{p} ds \leq \int_{a}^{t} \Omega\left(s, \int_{a}^{s} |x^{**}(\xi) - x^{*}(\xi)|^{p} d\xi\right) ds \\ \leq \int_{a}^{t} \Omega(s, u_{0}^{*}(s)) ds, \quad t \in I,$$

because, by the definition of u_0^* ,

$$\int_{a}^{t} |x^{**}(s) - x^{*}(s)|^{p} \, ds \le u_{0}^{*}(t), \quad t \in I.$$

Put

$$u_{k+1}^*(t) = \int_a^t \Omega(s, u_k^*(s)) \, ds, \quad t \in I, \ k = 0, 1, \dots$$

One can see easily that the sequence $\{u_k^*\}$ behaves as the sequence $\{u_k\}$ —it is nonincreasing and converges to zero. Moreover, by the definition of u_0^* , (11) and (12), it follows that

$$\int_{a}^{t} |x^{**}(s) - x^{*}(s)|^{p} \, ds \le u_{k}^{*}(t), \quad t \in I, \ k = 0, 1, \dots;$$

this implies that $x^{**} = x^*$. Thus, the proof of the theorem is complete. \Box

4. Let us now consider the very important special case when the function Ω is linear with respect to the second variable, i.e., the case when

(13)
$$\Omega(t,u) = M(t)u, \quad t \in I,$$

with some locally integrable function $M: I \to \mathbf{R}_+$. The conditions (i)–(iv) of Assumption A are evidently satisfied. For u_0 we can take the function

(14)
$$u_0(t) = q(t) \exp\left(2^{p-1} \cdot \int_a^t M(s) \, ds\right), \quad t \in I.$$

This is implied by the following (see [1]):

388

Lemma B. If a function $D : \mathbf{R}_+ \to \mathbf{R}$ has nondecreasing derivative \mathcal{D}' and the function $M : I \to \mathbf{R}_+$ is locally integrable, then

(15)
$$\int_{a}^{t} M(s)\mathcal{D}'\left(\int_{a}^{s} M(\xi) \, d\xi\right) ds \leq \mathcal{D}\left(\int_{a}^{t} M(s) \, ds\right) - \mathcal{D}(0).$$

Indeed, applying this inequality for $\mathcal{D}(z) = \exp(z)$, we get

$$2^{p-1} \int_a^t M(s)q(s) \exp\left(2^{p-1} \cdot \int_a^s M(\xi) \, d\xi\right) ds + q(t)$$

$$\leq q(t) \left[\int_a^t 2^{p-1} M(s) \exp\left(2^{p-1} \cdot \int_a^s M(\xi) \, d\xi\right) ds + 1\right]$$

$$\leq q(t) \exp\left(2^{p-1} \cdot \int_a^t M(s) \, ds\right).$$

Now the sequence $\{u_k\}$ can be evaluated by formula (6), and clearly the assertion of the theorem holds if the condition (v) of Assumption A is satisfied.

Observe that the function Ω defined by the formula (13) appears, for instance, when the operator F has the form

(16)
$$(Fx)(t) = g(t) + \int_{a}^{t} f(t, s, x(s)) \, ds, \quad t \in I,$$

and the function $f:I\times I_t\times B\to B$ satisfies the Lipschitz condition of the form

(17)
$$|f(t,s,x) - f(t,s,y)| \le L(t,s)|x-y|, \quad t \in I, \ s \in I_t, \ x,y \in B,$$

with L being a measurable and nonnegative function such that

$$\int_{a}^{t} \left(\int_{a}^{s} L^{q}(s,\xi) \, d\xi \right)^{p/q} ds < +\infty, \quad t \in I, \ p > 1; \ \frac{1}{p} + \frac{1}{q} = 1.$$

Now, using the Hölder inequality, we have

$$\begin{split} |(Fx)(t) - (Fy)(t)|^p &\leq \left(\int_a^t |f(t, s, x(s)) - f(t, s, y(s))| \, ds\right)^p \\ &\leq \left(\int_a^t L(t, s)|x(s) - y(s)| \, ds\right)^p \\ &\leq \left(\int_a^t L^q(t, s) \, ds\right)^{p/q} \cdot \int_a^t |x(s) - y(s)|^p \, ds \\ &= M(t) \cdot \int_a^t |x(s) - y(s)|^p \, ds, \end{split}$$

for

(18)
$$M(t) = \begin{cases} \left(\int_{a}^{t} L^{q}(t,s) \, ds \right)^{p/q}, & t \in I, \ p > 1, \\ \text{ess-sup}_{s \in I_{t}} L(t,s), & t \in I, \ p = 1. \end{cases}$$

It is assumed that the function M is locally integrable over I. The inequality

(19)
$$|(Fx)(t) - (Fy)(t)|^p \le M(t) \int_a^t |x(s) - y(s)|^p \, ds, \quad t \in I,$$

Lemma B, applied for functions $\mathcal{D}_i(z) = z^i/i!$, and the induction assumption imply

(20)
$$|(F^kx)(t) - (F^ky(t))|^p \le \frac{M(t)}{(k-1)!} \left(\int_a^t M(s) \, ds\right)^{k-1} \cdot \int_a^t |x(s) - y(s)|^p \, ds,$$

 $t \in I$, for any $x, y \in L^p_{loc}(I, B)$ and k = 1, 2, ...

5. The inequality (20) is very important in a classical discussion of the existence and uniqueness problems for equation (1). The following conclusions can be drawn from (20) immediately:

390

(a) The sequence $\{F^k x_0\}, k = 0, 1, \ldots$, of iterations of $x_0 \in L^p_{loc}(I, B)$ by F converges absolutely for all $t \in I$ for which M(t) is finite. Indeed, put, in (20), $x = x_0$ and $y = Fx_0$ to get

$$|(F^{k+1}x_0)(t) - (F^kx_0)(t)|^p \le \frac{M(t)}{(k-1)!} \left(\int_a^t M(s) \, ds\right)^{k-1} \cdot \int_a^t |(Fx_0)(s) - x_0(s)|^p \, ds.$$

From this inequality it follows that the series

$$x_0(t) + \sum_{i=0}^{\infty} [(F^{k+1}x_0)(t) - (F^kx_0)(t)]$$

converges absolutely if M(t) is finite. Let

(21)
$$x^*(t) = \lim_{k \to \infty} (F^k x_0)(t), \quad t \in I.$$

From the Lebesgue theorem it follows that $\{F^k x_0\}$ converges to x^* in $L^p_{loc}(I, B)$. This and the inequality

$$|(F^{k+1}x_0)(t) - (Fx^*)(t)|^p \le M(t) \int_a^t |(F^kx_0)(s) - x^*(s)|^p \, ds$$

(which follows from (19)) imply that x^* is a solution of equation (1).

(b) x^* defined by (21) is the unique solution of equation (1). Indeed, put, in (20), $x = x^*$ and $y = x^{**}$, x^{**} -is supposed to be another solution of (1); then

$$|x^*(t) - x^{**}(t)|^p \le \frac{M(t)}{(k-1)!} \left(\int_a^t M(s) \, ds\right)^{k-1} \cdot \int_a^t |x^*(s) - x^{**}(s)|^p \, ds,$$

for k = 1, 2, This inequality implies that $x^*(t) = x^{**}(t)$ for all t for which M(t) is finite.

(c) The error for $F^k x_0$ approximation to x^* has the form

(22)
$$|(F^k x_0)(t) - x^*(t)|^p \le \frac{M(t)}{(k-1)!} \left(\int_a^t M(s) \, ds\right)^{k-1} \cdot \int_a^t |x(s) - x^*(s)|^p \, ds,$$

 $t \in I$, for k = 1, 2, ... Indeed, we get this by putting $x = x_0$ and $y = x^*$ in (20).

The integration of (22) over the interval [a, t] leads us to the inequality

(23)
$$\int_{a}^{t} |(F^{k}x_{0})(s) - x^{*}(s)|^{p} ds \leq \frac{1}{k!} \left(\int_{a}^{t} M(s) ds \right)^{k} \cdot \int_{a}^{t} |x_{0}(s) - x^{*}(s)|^{p} ds$$

6. However, there is another conclusion of (20) which permits for different treatment of equation (1). Integrating (20) gives

(24)
$$\int_{a}^{t} |(F^{k}x)(s) - (F^{k}y)(s)|^{p} ds \leq \frac{1}{k!} \left(\int_{a}^{t} M(s) ds \right)^{k} \cdot \int_{a}^{t} |x(s) - y(s)|^{p} ds,$$
$$t \in I, \ k = 0, 1, \dots.$$

Take any b' < b and assume that k' is sufficiently large to get

$$\alpha^p := \frac{1}{k'!} \left(\int_a^{b'} M(s) ds \right)^{k'} < 1.$$

For such b' and k' (k' depends on b') we can conclude that the operator $F^{k'}$ considered in $L^p(I_{b'}, B)$ is a contraction with the coefficient α so that it has a unique fixed point $x^* \in L^p(I_{b'}, B)$.

It is easy to observe that x^* is also a unique fixed point of the operator F considered in $L^p(I_{b'}, B)$ (i.e., a solution of equation (1) defined on $I_{b'}$).

Putting $x = x_0, y = x^*, t \in I_{b'}$ in (24), we get

(25)

$$\int_{a}^{t} |(F^{k}x_{0})(s) - x^{*}(s)|^{p} ds \leq \frac{1}{k!} \left(\int_{a}^{t} M(s) ds \right)^{k} \int_{a}^{t} |x_{0}(s) - x^{*}(s)|^{p} ds,$$

$$k = 0, 1, \dots.$$

This means that the sequence $\{F^k x_0\}$ converges in $L^p(I_{b'}, B)$ to x^* .

To obtain the unique solution of equation (1) in the whole space $L^p_{\text{loc}}(I, B)$ it is enough to employ the continuation process. It is clear that, for the global solution x^* , the inequality (25) holds for all $t \in I$ and $k = 0, 1, \ldots$. Observe that the term

$$\int_{a}^{t} |x_0(s) - x^*(s)|^p \, ds$$

appearing on their right hand side of inequalities (22), (23) and (25) can be easily eliminated by employing the Gronwall inequality. Indeed,

$$\begin{aligned} |x^*(s) - x_0(s)|^p &\leq 2^{p-1} \cdot |(Fx^*(s) - (Fx_0)(s)|^p \\ &+ 2^{p-1} \cdot |(Fx_0)(s) - x_0(s)|^p \\ &\leq 2^{p-1} \cdot M(s) \int_a^s |x^*(\xi) - x_0(\xi)|^p \, d\xi \\ &+ 2^{p-1} \cdot |(Fx_0)(s) - x_0(s)|^p. \end{aligned}$$

Integrating this inequality over the interval [a, t] obtains

$$\int_{a}^{t} |x^{*}(s) - x_{0}(s)|^{p} ds \leq \int_{a}^{t} \left(2^{p-1} M(s) \int_{a}^{s} |x^{*}(\xi) - x_{0}(\xi)|^{p} d\xi \right) ds$$
$$+ 2^{p-1} \int_{a}^{t} |(Fx_{0})(s) - x_{0}(s)|^{p} ds,$$

which implies the inequality

$$\int_{a}^{t} |x^{*}(s) - x_{0}(s)|^{p} ds$$

$$\leq 2^{p-1} \int_{a}^{t} |(Fx_{0}(s) - (x_{0})(s)|^{p} ds \cdot \exp\left(2^{p-1} \int_{a}^{t} M(s) ds\right).$$

Finally observe that, in $L^p(I_{b'}, B)$, one can introduce the metric

$$d_{p,k'} = \sum_{i=0}^{k'-1} \beta^{i} \cdot ||F^{i}x - F_{y}^{i}||_{p}, \qquad \beta = \frac{1}{\sqrt[k']{\alpha}}.$$

393

It is easy to check that F is a contraction in $L^p(I_{b'}, B)$ with respect to this metric. Indeed, we have

$$d_{p,k'}(Fx,Fy) = \sum_{i=0}^{k'-1} \beta^{i} \cdot ||F^{i+1}x - F^{i+1}y||_{p}$$

$$= \sum_{i=0}^{k'-2} \beta^{i} \cdot ||F^{i+1}x - F^{i+1}y||_{p} + \alpha \beta^{k'-1}||x-y||_{p}$$

$$= \sum_{i=1}^{k'-1} \beta^{i-1} \cdot ||F^{i}x - F^{i}y||_{p} + \beta^{-1}||x-y||_{p}$$

$$= \beta^{-1} \sum_{i=0}^{k-1} \beta^{i} \cdot ||F^{i}x - F^{i}y||_{p} = \beta^{-1}d_{p,k'}(x,y).$$

7. Now we will present conditions under which the existence and uniqueness result for equation (1) can be established simply by an application of the Banach contraction principle when the appropriate norm is employed. This will be an extension of Bielecki's technique for the $L^p_{\text{loc}}(I, B)$ spaces.

We have

Theorem 2. If the function $M: I \to \mathbf{R}_+$ is locally integrable and the conditions

(26)
$$|(Fx)(t) - (Fy)(t)|^p \le M(t) \int_a^t |x(s) - y(s)|^p \, ds, \quad t \in I,$$

for every $x, y \in L^p_{loc}(I, B)$, and

(27)
$$\int_{a}^{t} |(Fo)(s)|^{p} ds \leq C \cdot \exp\left(\int_{a}^{t} M(s) ds\right), \quad t \in I,$$

where C is some constant, are fulfilled, then there is, in $L^p_{loc}(I, B)$, a solution x^* of equation (1) and a constant Q such that

(28)
$$\int_{a}^{t} |x^{*}(s)|^{p} ds \leq Q \cdot \exp\left(\int_{a}^{t} M(s) ds\right), \quad t \in I$$

The solution x^* is unique in the class of functions $x \in L^p_{\rm loc}(I,B)$ satisfying the condition

(29)
$$\sup_{t\in I} \left\{ \int_a^t |x(s)|^p \, ds \cdot \exp\left(-\int_a^t M(s) \, ds\right) \right\} < +\infty.$$

Proof. Let $L^p_M(I,B)$ denote a subspace of all $x \in L^p_{loc}(I,B)$ for which (29) holds. Introduce in $L^p_M(I,B)$ a family of norms defined by the formula (30)

$$||x||_{\lambda} = \left(\sup_{t \in I} \left\{ \int_{a}^{t} |x(s)|^{p} \, ds \cdot \exp\left(-\lambda \int_{a}^{t} M(s) \, ds\right) \right\} \right)^{1/p}, \quad \lambda > 1.$$

It is easy to check that $F:L^p_M(I,B)\to L^p_M(I,B).$ Indeed, for $x\in L^p_M(I,B),$ we have

$$\begin{split} &\int_{a}^{t} |(Fx)(s)|^{p} \, ds \\ &\leq \int_{a}^{t} [|(Fx)(s) - (Fo)(s)| + |(Fo)(s)|]^{p} \, ds \\ &\leq \int_{a}^{t} 2^{p-1} (|(Fx)(s) - (Fo)(s)|^{p} + |(Fo)(s)|^{p}) \, ds \\ &\leq 2^{p-1} \int_{a}^{t} \left(M(s) \int_{a}^{s} |x(\xi)|^{p} \, d\xi \right) ds + 2^{p-1} \int_{a}^{t} |(Fo)(s)|^{p} \, ds \\ &\leq 2^{p-1} \int_{a}^{t} M(s) P \cdot \exp \left(\int_{a}^{s} M(\xi) \, d\xi \right) ds + 2^{p-1} \cdot C \exp \left(\int_{a}^{t} M(s) \, ds \right) \\ &\leq 2^{p-1} (P+C) \exp \left(\int_{a}^{t} M(s) \, ds \right), \end{split}$$

where C and P are some constants (P depends on x). Now we show easily that F is a contraction in $L^p_M(I, B)$.

In fact, for every $x, y \in L^p_M(I, B)$,

$$|(Fx)(s) - (Fy)(s)|^p \le M(s) \int_a^s |x(\xi) - y(\xi)|^p d\xi$$

395

After integration of this inequality over the interval [a, t], we get

$$\begin{split} \int_{a}^{t} |(Fx)(s) - (Fy)(s)|^{p} \, ds &\leq \int_{a}^{t} \left(M(s) \int_{a}^{s} |x(\xi) - y(\xi)|^{p} \, d\xi \right) \, ds \\ &\leq \int_{a}^{t} \left(M(s) \exp\left(\lambda \int_{a}^{s} M(\xi) \, d\xi\right) \cdot \exp\left(-\lambda \int_{a}^{s} M(\xi) \, d\xi\right) \\ &\quad \cdot \int_{a}^{s} |x(\xi) - y(\xi)|^{p} \, d\xi \right) \, ds \\ &\leq ||x - y||_{\lambda}^{p} \cdot \frac{1}{\lambda} \exp\left(\lambda \int_{a}^{t} M(\xi) \, d\xi\right). \end{split}$$

Hence, we find that

$$||Fx - Fy||_{\lambda}^{p} \le \frac{1}{\lambda}||x - y||_{\lambda}^{p}$$

and

$$||Fx - Fy||_{\lambda} \leq \sqrt[p]{\frac{1}{\lambda}} \cdot ||x - y||_{\lambda}$$

which means that F is a contraction because $\lambda > 1$. Thus, the proof of the theorem is complete. \Box

REFERENCES

1. P.R. Beesack, On some Gronwall-type integral inequalities in n independent variables, J. Math. Anal. Appl. **100** (1984), 393–408.

2. ——, Systems of multidimensional Volterra integral equations and inequalities, Nonlinear Anal.: Theory, Methods Appl. 9 (1985), 1451–1486.

3. A. Bielecki, Un remarque sur la méthode de Banach-Cacciopoli-Tikhonov dans la théorie des equations differentielles ordinaires, Bull. Acad. Polon. Sci. Sér. Sci. Math., Phys. et Astr. **IV** (1956), 261–264.

4. C. Corduneanu, *Bielecki's method in the theory of integral equations*, Annales Universitatis Marie Curie-Skłodowska, Lublin-Polonia, Setio A, **XXXVIII** 2 (1984), 23–40.

5. H. Hochstadt, *Integral equations*, John Wiley and Sons, Inc., Interscience Publication, New York, 1973.

6. M. Kwapisz, An extension of Bielecki's method of proving of global existence and uniqueness results for functional equations, Annales Universitatis Marie Curie-Skłodowska, Lublin-Polonia, Sectio A, **XXXVIII** 2 (1984), 59–68.

7. ———, Some remarks on abstract form of iterative methods in functional equation theory, Commentationes Mathematicae **XXIV** (1984), 281–291.

VOLTERRA FUNCTIONAL EQUATIONS

8. ——, Bielecki's method, existence and uniqueness results for Volterra integral equations in L^p space, J. Math. Anal. Appl. **154** (2), (1991), 403–416.

9. ——, On the existence and uniqueness of integrable solutions for integral equations in several variables, Libertas Math. **9** (1989), 37–40.

10. F.G. Tricomi, *Integral equations*, Interscience Publishers, Inc., John Wiley and Sons, Inc., New York, London, 1967.

INSTITUTE OF MATHEMATICS, THE GDAŃSK UNIVERSITY, UL. WITA STWOSZA 57, 80-952, GDÁNSK, POLAND